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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any ten questions: - 2x10=20
@GR el 20 TEq W8 3
a) What is class? ‘
G FE A 2
b) Define contradictory opposition.
feem Rarfaem s e |
c) What is existential fallacy?

SRS CHTE FI A0 2

d) How is the figure of a categorical syllogism

determined?

G35 fFarers T AEm Freia dife e
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h)
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What is mixedﬁisjunbtive syllogism?
for Cosfrs wita wIcE @ e

What is an immediate inference?
ST S FE A ¢

What is meant by the paradoxes of material

implication?
@IS 2ifed SHre IE0s B (R ?

Symbolize the following proposition by Venn
diagram:

Everything is perfect.

Hafegs 74 |
When a conjunctive proposition will be true?
GG Ao A5 YA ] T ?

What is the truth value of "PvQ" if P> Q is
false?

PoQ 3fw e 28 93 "PvQ" IsAaHa
sergen & 2@ e

A

b __pe=r



= P R
"

k)

1)

265/Phil

What is Boolean square of opposition?— Draw

it.

o Ry vt 2 o o9

IfA, B, C are false statements and X, Y, Z are
true statements, then which of the following

are true?

Ifw A, B, C i 3sa 50 w2 X, Y, Z 59 b9 F,
wigrE AafReslEe s @mei Ty |

i) xo(yoz)
i) [(A>Y)>B]>oZ
What is meant by distribution of terms?

v 19TS! IS B ([@RIF 2

What is truth-functional connectives? Give

example.
HEIT QAET IS I ¢ THIRI W18 |

Write the schematic form of the method of

difference.

Fferzd “afen asiwiEe st = |
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2. Answer any four questions: 5x4=20

@- (I Brafb arig Teg wie ¢

a)

b)

d)
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What is opposition of propositions? Explain,
with the help of examples, the distinction
between contrary and sub-contrary opposition.

243

T Rt 91 367 2 foife @ Slin-Riotde
Rratfaera sray s Swigaes= =y <@ |

What do you mean by simple conversion of
'A" proposition? Explain with example. 2+3

'A 5L HEE SRS FE0S 16 (AR 2 TwiEae Tt
AT $9

Discuss different criteria for the evaluation
of hypothesis.

os Teiad [feq sareef e st

What is conversion? Give the conversion of
the following sentences: 1+2+2

GRS FIE A ¢ e aRelEE s wE ¢

1) Few men are not selfish.

YA F ALYE NTRL Fdog 77 |
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ii) Some horses are gentle.

g (ST =W e |
What is the fallacy of illicit major?
ST3Y Al A DIE 1 2

Use truth-tables to determine the following
statement forms as tautologous, contingent or

self-contradictory.

FEAEAR AR Fdee s o waereE
Feze), Sivfes wLa zfaid ¢

i) g>[(p2q)2q]

ii) [(p.q) Dr]E [p:}(q = r)]

3.  Answers any two questions: 10x2=20

A1 FfS A0 TEd w16 ¢

a)
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Test the validity of the following syllogisms

by means of Venn diagrams: 3+3+4

fitare gfesfrr (saforar s tage! f&oe

42
i) BRAMANTIP

i1)  Ao0-2
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b)
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iii) Only teachers were present in the
seminar. Some scholars were present in
the seminar. So, some scholars are

teacher.

@ frreais @R Toifzs e |
ferg sl GifmITa Soifge farem | 7ear fog
S\AES % |

Use truth-table method to test the validity of
the following argument: 5+35

AeRa *afed AR Fee gfesls e
fasra w03l ¢

i) Us(VvWw)
(V.W)o~U
s~U

i) (~A.~B)oD
D>(~Av~B)
+.~(AvB)>~(A.B)

What is argument by analogy? Discuss
different criteria for the appraisal of analogous

argument. 10

Somgfe Fis a0 ¢ SomElE e aavre el
HATE HCEHA 9 |
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d) Explain, with example, the method of
Agreement. 10

SET S SHIZA AZHICA T FCAT
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